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B #hik BEHEEG=10mm) | 021 ~10% 208 = 0.44 m2
avy)—rE C2-B300 180 .10% 208 = 374 ¥
mE= RILREET-25) 10 ~10% 208 = 21 %
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1M I3 (B300) 1. 0m Y
& 7 " AETINE
avyy—+ o ck=18N/mm2 m3 0. 3h+0. 0809
BB INBIRE ) m2 | 4h+0.60
HEBERa RC-40 (t=15cm) m2 0.70
HEmEEIE m2 0.70
SR (T-25) | AL RERE | 1.0
_ BES (h) av9)—km3) B B(m2)
we | Z£E = . g . . o
hi h2 BRE1  BR@E2 | #= | B | BrE2 #ME
3330 0509 0579 0234 0255 0813 2.64 2.92 9.24
=1 3.330 0.813 9.24
% b1 iR 1% = = # =
avy)—k Ock=18N/mm2 | (LERHERIZELD) 0.813 m3
B4 INBMEEY) (LERETERICKD) 9.24 m2
HEBERA RC-40(t=15cm) 0.70 * 33 233 m2
HEEIE 0.70 * 3.3 2.33 m2
M= RILFEE(T-25)| 1.00 * 3.3 333 #&




MEME™W RER

g SE AE@mEMmM2)
BTE1 | BTE2 | WE
Al
1 080 090 000
. 2 090 106 000
5 S 3 3000 106 110  3.24
4 0300 110 190 045
- 5 2672 190 185 501
90 6 6911 185 135 11.06
7 5694 135 083 621
| | - 8 0220 083 000  0.10
= 9 0261 000 091 012
10 | 13399 091 031 817
MEEDy— 11 0197 000 067 007
12 067 054 000
13 054 031 000
&5t | 32663 34.43
& Lo iR % = = B =
"EE (t=20cm) (LEFHEEIZLD) = 3443 m2




